UZON 2
369124 - UZON 2

Pieces détachées Vue éclatée

Rep
1

1 20367313800 SUPPORT FOYER 3138 BRUT

3 13303315753 BAC A CENDRES 3157ANTHRACITE

5 13370326000 NAIL.TIR.CH PHILIPPE 3260 BRUT

7 18855369101000 FICELLE CERAM.PTE FOYER 369101

9 12778369101053 CARTER DROIT 369101 ANTHRACITE

11 18548369101053 INDEX 369101 GRIS ANTHRACITE

13 10176369101053 PLAQUE PROTEC.AR.369101 ANTHR.

15 12861369101053 PORTE FOYER 369101 ANTHRACITE

17 14173369101053 CONDUIT SUP.AIR 369101 ANTHR.

19 12071369101053 FIXE VITRE 369101 ANTHRACITE

21 14175369101053 GUIDE DE SECURITE 369101 ANTH.

23 12175369101053 RENFORT FACADE 369101 ANTHR. 1

Page 1/3 23/06/2022



UZON 2
369124 - UZON 2

25 00001307525 VIS EPAULEE PLAN 1 9260 660103
27 12010386101000 BUTEE DE FACADE 386101 BRUT
29 12112996006001 FRONTON 996006 EBARBE

31 11447996006000 FIXE TAMPON 996006 BRUT

33 11448996006000 TAMPON SECURITE 996006 BRUT
35 14322996007001 SIEGE DE BUSE 996007 EBARBE
37 12401996007000 DERRIERE 996007 BRUT

39 10427996007053 ENTRETOISE ARRIERE 996007 ANTH

63 12420996121053 PLAQUE PROTECTION 996121 ANTH. 1

65 00001300270 ECROU CARRE BRUT M6X100 12X4
67 00001304496 ECROU RAPID NUT0955/NUT8415APC
69 00001307987 RIVET ACIER TR D6 0-0,2 LG 50

7 00001308309 RONDELLE PLATE INOX 8,2X22X0,5

73 00001307191 VIS EPAULEE 3119 ACIER ZN NOIR 1 |C

Page 2 /3 23/06/2022



UZON 2
369124 - UZON 2

75 00001307254 RESSORT SEUL D 6 NOIR

77 00001305405 VIS TF M6X30 POZIE ZN NOIR 5

C

79 00001305476 VIS TRL M5X10 POZIE ZN NOIR 4

81 00001305475 VIS TRL M5X8 POZIE ZN NOIR

Page 3 /3 23/06/2022



